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chap 10e page item change WileyPlus paper book  pdf made
Ans AN-13 Prob 43-13 (a) answer should be 253 already ok yes
extended MeV instead of 251 MeV.
AN-13 Prob 43-13 (a answer should be 253
Ans  yo12 B already ok yes
AN-1 Prob 3-51 answer to prob 3-51 (b) WP wording will
Ans Regular, should be negative now ask for yes
Vol 1, “magnitude”.
extended
AN-9 Prob 30-101 Answer to prob 101 should
Ans  Regular, be 1.15 #Wb Ok in WP yes
extended
AN-3 Prob 30-101 Answer to prob 101 should .
Ans Vol 2 be 1.15 £Wb Ok in WP yes
44 SP 3.01 Unit of answer on orienteering SP
3 should be kon instead of “m. 130118 yes
4 75 | SP4.05 | Wrong superscripts in two places. | | yes
4 Prob 138 is a duplicate of Prob 83. Cannot fix
4 | | Prob 137 is similar to Prob 88 | Cannotfix |
129 SP 6.02 Correction to caption to
6 Fig. 6-4 (left over from 9e). yes
Correct “hown” to “down”.
18 538 | SP18.07 | Correct subscript “env” to “abs” | | yes
23 682 Prob 23-48 Change wqrdir’}g to “A positively Fixed Fixed p—
charged particle
2 748 SP 26.01 Reference should be to Table 14-1 yek
instead of 15-1
829 Prob 28-11 Delete “smallest”. The hor and vert
setup and then the demand of
28 “undeflected” requires that the E be yes
perp to the other voctors. No other
choice.
31 [ Q13 | “(a)” missing in question statement | Ok in WP prob area | | yes
Prob 42-46 This should be shifted back to the
42 beta-decay module because it involves Cannot fix

beta-decay.
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